

$$a + ar + ar^2 = 21$$

$$a(1+r+r^2) = 21 \rightarrow \frac{r}{r} (1+r+r^2) = 21 \rightarrow r + r^2 + r^3 = 21r \rightarrow r^3 - 14r + r = 0$$

$$a + ar + ar^2 = 21$$

$$ar^2 = 21$$

$$ar = 7$$

$$a = \frac{7}{r}$$

$$\Delta = b^2 - 4ac \rightarrow 14^2 - 4 \cdot 1 \cdot 21 = 196 - 84 = 112$$

$$\frac{14 \pm \sqrt{112}}{1} \rightarrow \frac{14 \pm 4\sqrt{7}}{1} \rightarrow 14 + 4\sqrt{7} \text{ X} \text{ زیر صواب است}$$

$$(x^2 - 2)(x^2 + 4) = 4x^2 \rightarrow$$

$$x^4 + 2x^2 - 1 = 4x^2 \rightarrow x^4 - 2x^2 - 1 = 0$$

$$\Delta = b^2 - 4ac \rightarrow 4 + 4 = 8 \rightarrow x^2 = \frac{4 \pm \sqrt{8}}{2} = \frac{4 \pm 2\sqrt{2}}{2} = 2 \pm \sqrt{2}$$

$$x = 2 \rightarrow 1, 4, 2 \checkmark \rightarrow x = \frac{1}{2}$$

$$x = -2 \rightarrow 1, 4, 2 \text{ X}$$

$$x^2 = 4 \rightarrow x = \pm 2$$

$$S_{\infty} = a \cdot \left(\frac{1-q^n}{1-q} \right) = 1 \cdot \left(\frac{1 - \frac{1}{2^n}}{1 - \frac{1}{2}} \right) = \frac{1 - \frac{1}{2^n}}{\frac{1}{2}} = 2 \left(1 - \frac{1}{2^n} \right) = 2 - \frac{2}{2^n} = 2 - \frac{1}{2^{n-1}}$$

$$a_1 + a_2 + a_3 + a_4 + a_5 = ?$$

$$a + ar + ar^2 + ar^3 + ar^4 = ?$$

$$a(1+r+r^2+r^3+r^4) = \frac{1}{1-r} \left(\frac{1-r^5}{1-r} \right) = \frac{1-r^5}{(1-r)^2} = \frac{1-1}{(1-1)^2} = \frac{0}{0}$$

$$\frac{1}{1-r}$$

$$r \text{ و } b: b = \frac{a+c}{2} = \frac{9\Delta}{2}, r, \Delta \rightarrow A$$

(ف)

$$r \text{ و } b: r^{n+1} = \frac{b}{a} \rightarrow r^4 = \frac{4\Delta}{1} \rightarrow r = 2$$

$$r \text{ و } b: r^4 = 1 \times 1 = 1 \rightarrow B$$

$$A+B = 12\Delta + 1 = 13\Delta$$

$$-2\Delta, -\frac{4\Delta}{2}$$

(و)

$$d = \frac{-4\Delta}{2} + 2\Delta = \frac{-4\Delta + 4\Delta}{2} = \frac{0}{2} = 0$$

$$a_{n+1} = a_n + 10d$$

$$-2\Delta + 2\Delta = 0$$

$$12\Delta, a_4, \dots$$

$$a_n = 1 \rightarrow ar^4 = 1 \rightarrow 12\Delta \times r^4 = 1$$

$$r^4 = \frac{1}{12\Delta}$$

$$r = \frac{1}{\sqrt[4]{12\Delta}}$$

$$a_4 = a_1 + 3d$$

$$a_5 = a_1 + 4d$$

$$a_9 = a_1 + 8d$$

$$\left\{ \begin{array}{l} (a_1 + 4d)^2 = (a_1 + 2d)(a_1 + 6d) \rightarrow \\ a_1^2 + 8d^2 + 8a_1d = a_1^2 + 6a_1d + 12d^2 \end{array} \right.$$

$$2d^2 + 2a_1d = 0$$

$$a_1 + 10d = 0 \Rightarrow a_1 = -10d$$

$$d = \frac{a_1}{-10}$$

$$a_1, a_2, a_3, \dots, a_n$$

$$\downarrow \quad \downarrow \quad \downarrow$$

$$a+d \quad a+2d \quad a+3d \quad \dots \quad a+nd$$

(17)

$$(a+d)(a+nd) = (a+2d)^2 \rightarrow a^2 + nad + nd^2 = a^2 + 4ad + 4d^2$$

$$nad - 4d^2 = 0$$

$$a = d$$

$$a_1 = a + d \rightarrow ka$$

$$a_2 = a + 2d \rightarrow ka$$

$$a_n = a + nd \rightarrow ka$$

$$9 = 4$$

$$a_1 = a, r$$

$$\frac{1}{\epsilon} \times (4)^4 = 4^4 \times (127)$$

(18)

$$ra_1, ra_2, a_3$$

$$\downarrow \quad \downarrow \quad \downarrow$$

$$rar \quad rar^2 \quad ar^3$$

$$rar + ar^3 = rar^2 \rightarrow r + r^3 = r^2$$

$$r = 3$$

$$r^3 - r^2 + r = 0 \rightarrow r = \frac{1 \pm \sqrt{5}}{2} \rightarrow (3) \checkmark$$

غیر صحیح

$$\frac{-F}{2}, \frac{V}{\varepsilon}, \dots$$

$$a_{\varepsilon} = a_1 + \frac{2}{\varepsilon} d \rightarrow \frac{2}{\varepsilon} = \frac{d}{F}$$

$$a_{\frac{1}{\varepsilon}} = a_1 + \frac{V}{\varepsilon} d \rightarrow \frac{V}{\varepsilon} = \frac{d}{F}$$

$$a_{\frac{1}{\varepsilon}} = a_1 + \frac{1}{\varepsilon} d \rightarrow \frac{1}{\varepsilon} = \frac{d}{F}$$

$$\frac{d}{F} + n = \frac{1}{F} + n = -1 + n$$

$$\left(n + \frac{d}{F}\right)(n-1) = \left(n + \frac{1}{F}\right)^2 \rightarrow$$

$$n^2 + \frac{1}{F}n - \frac{d}{F} = n^2 + \frac{1}{14} + \frac{1}{F}n \rightarrow \frac{1}{F}n + \frac{21}{14} = 0$$

$$\frac{1}{F} \left(n + \frac{21}{\varepsilon}\right) = 0$$

$n + \frac{d}{F}$	$n + \frac{1}{\varepsilon}$	$n-1$
$\downarrow$	$\downarrow$	$\downarrow$
$-\frac{F}{d}$	$-\frac{d}{\varepsilon}$	$-\frac{21}{\varepsilon}$
$\times \frac{d}{F}$	$\times \frac{d}{\varepsilon}$	

$$n = -\frac{21}{F}$$

$$q = \frac{d}{F}$$

(1)

$$a_1 = a$$

$$a_2 = ar$$

$$a_3 = ar^2$$

$$\left. \begin{array}{l} a_1 = a \\ a_2 = ar \\ a_3 = ar^2 \end{array} \right\} a + ar + ar^2 = \frac{a(1+r+r^2)}{1-r}$$

$$\Rightarrow a = \frac{a(1+r+r^2)}{1-r}$$

$$a_1 = a$$

$$ar = a + d$$

$$\left. \begin{array}{l} a_1 = a \\ ar = a + d \end{array} \right\} d = ar - a = a(r-1)$$

$$ar^2 = a + 2d \Rightarrow a + 2(a(r-1)) = ar^2$$